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Tick the correct answer:

Q-1 288x25=_ x288
a) 25 b) 27 c) 288 d) 1

Q-2 Find the correct symbol:
12+ 9 3=15
a) + b) - c) x d) +

DIRECTION : In the question number 3, a statement of Assertion (A) is followed by a statement
of Reason (R) . Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.

b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.

Q-3 Assertion (A) : 3681 x1=1
Reason(R): The Product of any number and 1 is the number itself.
Q-4 What is 7 more than the product of 13 and 9?

Q-5 Sofia purchased 277 total balloons for the party. If she plans on
keeping balloons together in sets of 3 and she wants to blow up as (= 4
many balloons as possible, how many balloons will she not have to . )
blow up? =

Q-6 Abir bought 171 notebooks from a book shop and his friend Dhruv bought 12 times more
notebooks than Abir.
a) Find the number of notebooks Dhruv bought?
b) If the cost of 1 notebook is 320, then find the amount Abir spent on buying notebooks.
c) If Dhruv bought a notebook for % 10, then how much money he spent for buying notebooks?

Q-7 575 metres of rope can be cut into 25 equal pieces.
a) How much rope is needed to cut 45 pieces of the same size?
b) If we add 15 to the quotient of 575 and 25, what number would we
get?
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Q-1 Without actual division, find the quotient and the remainder.
4,52,132 + 100

Q-2 Simplify:
65+5+5x%x12-25

Tick the correct answer:

Q-3 The product of two odd numbers is always :
a) Even number b) Odd number c)0 d)1

Q-4 The sum of three consecutive numbers is divisible by :
a) 3 b) 2 c)4 d)5

DIRECTION : In the question number 5, a statement of Assertion (A) is followed by a statement
of Reason (R) . Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.

b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.

Q-5 Assertion (A): 0 +208=0
Reason(R): When a number is divided by 1, the quotient is the number itself.

Q-6 Rahul has 4 boxes with 9 oranges each while Sumit has 3 boxes with 8
oranges each.
a) How many oranges do they have altogether?
b) If they have given 5 oranges to Ravi, how many oranges are left with
them now?
c) What number is 9 twice the number of oranges left with them?

Q-7 a) Find the quotient and remainder. Also check your answer:
434564 +137

b) Fill in the blank:
If there’s no remainder, the quotient and the divisor are always the of the
Dividend.
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Q-1 Cost of 1 refrigerator is X 15847. Find the cost of 20 refrigerators.
Q-2 Fill in the blanks using suitable properties and also mention the name of properties.

a) (741 x40)x3=40x% (3 x_ )
b) 1x =8452
c) 198x200x__ =0

Q-3 Mrs. Sharma makes study guides for her class of 24 students. She uses
2530 sheets of paper.
a) If she has to use equal number of pages in each study guide, then
how many sheets of paper are there in each study guide?
b) How many sheets are left with Mrs. Sharma?
¢) What will be the quotient and remainder if 2530 will be divided by
100?

Q-4 Minakshi thinks of two numbers. Her first 4-digit number starts with 14. The next 2 digit
number is 2 times the first two digits.
a) What is her first number?
b) If she thinks of the Greatest 3- digit number as her second number, find her second number.
¢) Find the Product of both numbers obtained.

Tick the correct answer:

Q-5 Dividend = x Quotient + Remainder
a) 0 b) Addend ¢) Multiplier d) Divisor

Q-6 The number by which the multiplicand is multiplied is called the :
a) Addend b) Minuend c) Multiplier d) Divisor

DIRECTION : In the question number 7, a statement of Assertion (A) is followed by a statement
of Reason (R) . Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.

b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.



Q-7 Assertion (A) : If the cost of 5 balls is 2100, then to find the cost of 7 balls, we will apply
unitary method.
Reason(R): The method of solving problems by finding the value of 1 unit is called Unitary

method.



